Cetka(1l,1) Crpanvua 1 u3 15




\CtpaHuua 2 u3 15

\
1
\

jbCeTK\?(l,Z) \




j\)CeTKa(l,3)

Ctpanuua 3 m3 15




LCeTKa (1,4)

Ctpanvua 4 n3 15




*)CETKB (1,5) Ctpanvua 5u3 15



Cetka(2,1) Ctpanuua 6 n3 15




Ctpanuvua 7 n3 15

LCeTKa(Z, 2)




LCeTKa(ZJ)

Ctpanuua 8 n3 15




LCeTKa(Z, 4)

Ctpannua 9 n3 15




j\)CeTKa (2,5) CrpaHuua 10 n3 15



Cetka(3,1) Crpanvua 11 n3 15




Ctpanvua 12 u3 15

j\)CeTKa(3,2)




/)

j\)CeTKa (3,3) CtpaHuua 13 n3 15




j\)CeTKa(3,4)

Ctpanvua 14 3 15




j\)CeTKa (3,5) CtpaHuua 1513 15



